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- FEIRES
TWHROORX B4 T EERSF-FPh- 2o¥- 2P TR
# P | English Class # ¥ 5 |Name
¥ - N o4OB & ‘
$ii wBh B CD # e B d L p o KABC= B v
FA-BramaER > T AT X P AAHTERENITE o
FRAEN A 0 R R EAFE o [1~1048F 485 4 > 11~205 35 = 4 )
-~ Fﬁ‘zg "' iw "'Tfi;f'] zg) 1 -—3‘: m lil (%E%ﬁ» : 1~6'§E>
(A) (B) (C) (A) (B) (C)
Mg N
(A) (B) (C) (A) (B) (C)
2 EN 5
Sa="" =X T
(A) (B) (C) (A) (B) (C)
3 6 .
o &850
= s FE e T hE 3 (A5 1 7~940)
7 | (A) sunny (B) ship (C) south
8 | (A) swimming (B) scooter (C) east
9 | (A) windy (B) west (C) taxi
10 | (A) train (B) rainy (C) wait

iy

RS o E NS S (A 11~1340)

11 | (A) It's rainy. (B) I'm from America. (C) I want to go hiking.
12 | (A) No, you can’t. | (B) You can get there by car. (C) Yes, they can.
13 | (A) It's cloudy. (B) It's in the east of Yilan. (C) It's my home.
T s FCD%eh¥ 3 > ENpmEeh® 3 2 s (305 0 14~1748)
14 | (A) ay (B) ie (C) ea
15 | (A) ai (B) ie (C)i




16 | (A)y (B)ea (C) a
17 | (A) i_e (B) a_e (C) ee
AR HRATRINEE A HE Y ENT R X EN T mhE R o (JL5 0 18~2041)
CO#HZ €450 - P 7 FAHD S 0 RSk BRSO A E- BETRI PP FEAp P
18. Where is Peter from?
18 | (A) England (B) America (C) Taiwan
19. How's the weather today?
19 | (A) cloudy (B) winding (C) sunny
20. How can he get to the ABC park?
20 | (A) By bike. (B) By train. (C) By bus.
~F ORI B A~
TR RIS EITE o
- ;W ®OR & ‘
TEN- B E X o [21~-304E 5 425 & > 31~40F 5= & ]
#orchE F (5L 21~24 %)
(A) car (B) ship (C) bus
(A) ROC (B) the USA (C) the UK
(A)go hiking (B)go camping (C)go fishing
(A) bicycle (B) scooter (C)plane
= SEN R R hF (BE5 0 25~27 #)
25 | (A) cloudy (B)snowy (C) cry
26 | (A) apple (B) west (C) south
27 | (A) train (B) zoo (C) bus
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M FRHEENEEDER

(L5 : 28~304%)

28

Jack: Where are you from?  Tim:

(A) He is from Taiwan.

(B) I am from Taiwan.

(C) You are from Taiwan.

29

Ann: How can we get there? Vicky:

(A) You can get there by motorcycle.

(B) I go to school by frain.

(C) Today is sunny.

30

Dad: How's the weather? Mom:

(A) I want to go shopping.

(B) It's sunny.

(C) Fine, thank you.

L HERT ARA T § R (AT 1 31~334)

Name country wants to do..... transportation
Jenny ® g
N L Z
Amy
A IR
Tony s a5
=3 0
Where is Jenny from?
3] (A) She is from America.

(B) She is from Japan.

(C) She is from England.

16




L

~

Amy wants to go fishing. Can he get there by bike?

39 (A) No, she can't.
(B) She doesn’t want to go fishing.
(C) Yes, she can.
What does Tony want to do?

33 (A) He wants to go swimming.
(B) He wants a book.
(C) He wants some rice cream.

E N k(A5 1 34~38 %)

What does she to do?

34 (A) wants (B) want (C) wanted
Where he from?

35 (A) is (B) are (C) am

wants to go camping.

36 (A) | (B) George and Mary (C) Mary
We can by car.

37 (A) get zoo (B) get to zoo (C) get to the zoo
How ___ hegetthere?

38 (A) do (B) is (C) can

Lo TR EARSRN S FFBAFF L o (35 1 39~4040)

39.1 can get to Taipei by MRT.=:x = 5% B &2 »

FREFELL -

40. George and Mary can get there by bus. Dz K & > B AF R 51 -

17
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FATH DS % 0 A E AT o [1~10415 415 A > 11~20% 4= A )
- S HE N R E F WS (35 1-63D)
(A) (B) (C) (A) (B) (C)
1| da5== : 4 4
Z%@%m W iﬁﬁj @» @»a w@»
U0 " G-
[ %P ]:rainy [ 4892 ]:north
[ #% 1: (B) [ ¥% 1: (A
[ 21Ee ]): B# Hello Darbie % - # % - 3% [ &1 ]): B# Hello Darbie % = # % = 3k
[ /247 ] smEEXF2zF TENERE | [ B JragmE> o 2EIRT -
2 @Y [ 4 :}ﬁ%;‘?—] 1-1-3 fc BFEk® @ o1y 7 and
(34 448): 1-1-3 skt sy @ane | 4
R e mare )1
e R Y] R
(A) (B) (C) (A) (B) (C)

) T
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[ #p ]: [ wp 1:

[ 2% 1: (B [ % 1

[ 21Ee ): B# Hello Darbie % - # % - 3% [ 214 ): B# Hello Darblea? el =
[ 34 JaBERFERHCHF ZEIRY | [ f#4 1w RmEIELLIE L TEOF
(i 4 3pi%]: 1-1-3 R EFvaRE @ 97 W | 2 o

2 (it 4 48] 1-1-3 & Rkt @ oy @ e
[; e k)1 R R oo

[Frrre R): 1 35R
(A) (B) (C) (A) (B) (C)
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[ %7 ]: Japan [ 39 ]): scooter
[ #% 1: (s 1 @
[ & 1: B#Hello Darbie 5= p %-3 | L "/ ]"%WHHODafble‘ﬁ N
[ 247 ] R & % 2R R ;}uﬂ*‘r 1Rl 1 B p A BF
3 R IRV g 7o
i{ﬂoh Jf Bl 1-1-3 f FFssed @ o7y 7z 55‘; 4 ;}ﬁﬁ’_] 1-1-3 & Boyeskd ¢ #1917 sz
riee k115 ?mmal: L 348
=~ FE AR E 3 (HE50 0 7-1041)
7 | (A) sunny (B) ship (C) south
[ %9 ]:south
[ 2% 1: (O
[ D& ): B#rlHello Darbie%?—“#%‘;:éﬁc
[ /347 Y w@* FFRp > ENmen¥E 3 o
[+ 4p1%]: 3-1-3 shz%’*%—’*#; fird ARG Pl NEF o
[iooew R ): 2.7 f2
8 | (A) swimming (B) scooter (C) east
[ 3P ]):swimming
[ ¥% 1: (D
[ & ): B#FHello Darbie % = * % - 3%
[ @47 J:a@rBFR0 Eh0monlF o
(a4 4pi%]):3-1-3 @ * 3 2HF2 P A4 * PRAFNEF -
[Faree R]: 2.0 f2
9 | (A) windy (B) west (C) taxi
[ 3P ]:west
[ 2% 1: (B
[ #&% ]: B# Hello Darbie % - # % = %
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11 | (A) It's rainy. (B) I'm from America. (C) I want to go hiking.
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12 | (A) No, you can't. | (B) You can get there by car. (C) Yes, they can.
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13 | (A) It's cloudy. (B) It's in the east of Yilan. (C) It's my home.

3P ): Where is your home?
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18. Where is Peter from?

18 | (A) England (B) America (C) Taiwan
[2< p % ] Peteris from America. His home is in the westhef ¢ity. It's cloudy today.

He wants to go hiking in ABC park. He can get thaydrain.

[ 2% 1@ B
[ #& ]: B# Hello Darbie % = # % = %
[ B4 1R ARFFE LR P 3 BiimEs: -
(i 4 4p1%): 1-1-8 s FIEH & her 3+ o
(p.u‘rr"?'ﬁi] 1 )U'r%;
19. How's the weather today?
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20. How can he get to the ABC park?

20 | (A) By bike. (B) By train. (C) By bus.
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21 (A) car (B) ship (C) bus
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22 | (A) ROC (B) the USA (C) the UK
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23 kﬁ (A)go hiking (B)go camping (C)go fishing
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24 (A) bicycle (B) scooter (C)plane
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Jack: Where are you from?  Tim:

(A) He is from Taiwan.
28

(B) I am from Taiwan.

(C) You are from Taiwan.
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Ann: How can we get there? Vicky:

(A) You can get there by motorcycle.

29
(B) I go to school by train.
(C) Today is sunny.
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Dad: How's the weather? Mom:

(A) I want to go shopping.
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(B) It's sunny.
(C) Fine, thank you.
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31 Where is Jenny from?

(A) She is from America.

(B) She is from Japan.
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(C) She is from England.
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Amy wants to go fishing. Can she get there by bike?

32 (A) No, she can't.

(B) She doesn’t want to go fishing.

(C) Yes, she can.
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What does Tony want to do?

33 (A) He wants to go swimming.

(B) He wants a book.

(C) He wants some rice cream.
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What does she to do?
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35 Where he from?
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We can by car.
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How he get there?
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